| -
DAHAN QTz125 (DH6015)

[PY30BbICOTHbIE XapaKTEePUCTUKN |

61780

MpOoTUBOBEC CTPESIbI > |
VAW == n
60m 13,978m 4A+2B=15,52T1
55m 13,978m 4A+1B=14,52T1
45m 13,978m 3A+2B=12,14T1

® A=3,341 B=1,0T



KpuBble Harpys3okK > |

T

[3-12,03]14[16[ 18] 20

60m | <>

T

22,4 25|28 31 34]

43 146 [49[52[55]58

[ 10 [8,487,376,46]5,75

5 4,473,923,473,11]

37 [40 ]
2,812,552,

[ 60 |
3312,141,97/1,8311,69/1,58/ 1,5 |

M
T

[3-13,04[15[17[19[21

[ 55m <>

24,4 26]29]32]35

44

47]51[53][5

%?"1»%
o

[ 10 [8,617,546,685,96

5 14,694,14]3,693,32

| 38 ]
13,0]

(44 ] 5[ m
2,742,592,322,091,991,9 | 1

[3-14,19 [16]18 [ 21] 24

26,528 30[32[35[38[40[43[46 [48[50 [ ™
[ 10 [8,817,766,545,64] 5 |4,74/4,38/4,07]3,66/3,323,122,832,642,512,38 T |
[3-14,19 [16[18 [ 21] 24
26,5 28[30[32]35[38[40[43[45[ ™
[8,8 [7,76[6,545,64] 5 [4,7414,38/4,073,66/3,323,122,862,64] T |

[ 10

BbICOTHbIE XapPaKTEPUCTUKM > |

60m

45,15m

81,15m

126m

117,15m

162m

153,15m

198m

MexaHU3Mbl o

MexaHn3M nepemMeLleHus

CKopocTb nogbema M/MUH 0~40 0~80 0~20 22 ~40
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